



2. (§3.2 #44) Given that  $f(2) = -3$ ,  $f'(2) = -2$ ,  $g(2) = 4$ , and  $g'(2) = 7$ , find the following:

(a) [2]  $\frac{d}{dx} \left( \frac{1+f(x)}{g(x)} \right) \Big|_{x=2}$

quotient rule (+.5)

$$= \frac{g(x) \frac{d}{dx}(1+f(x)) - (1+f(x)) \frac{d}{dx}(g(x))}{(g(x))^2} \Big|_{x=2}$$

$$= \frac{g(x) \frac{df}{dx} - (1+f(x)) \frac{dg}{dx}}{(g(x))^2} \Big|_{x=2}$$

plug in (+1)

$$= \frac{g(2)f'(2) - (1+f(2))g'(2)}{(g(2))^2}$$

$$= \frac{4 \cdot (-2) - (1+(-3))7}{4^2}$$

$$= \frac{-8 - (-2) \cdot 7}{16}$$

$$= \frac{-8 + 14}{16} = \frac{6}{16}$$

$$= \frac{3}{8}$$

(b) [2] Find the equation of the line tangent to  $g$  when  $x = 2$

(+.5) Looking for  $y = mx + b$  or  $y - y_1 = m(x - x_1)$

(+.5)  $m =$  slope of line tangent to  $g$  at  $x = 2$   
 $= g'(2)$   
 $= 7$

(+.5) passes through the point  $(2, g(2))$  or  $(2, 4)$

So  $y - 4 = 7(x - 2)$

or  $\begin{cases} 4 = 7(2) + b \\ 4 = 14 + b \\ -14 = -14 \\ -10 = b \end{cases}$   
 so  $y = 7x - 10$